
ENGLISH 101 MARKING SCHEME
1. (a)
 -Business had not been particularly good

- His wife had given birth to twins meaning extra mouths to feed.

- Space was becoming a problem to him.

- He could not raise prices on his goods for he risked losing customers (any 2 x1mk each= 2mks)

(b) – If he raised /increased prices on his goods, customers became annoyed and could refuse to buy. On the other hand, if he kept his prices low, he made little money because his Syrian suppliers had started charging more.

(The dilemma must come out for it to score.)= 2mks)

(c) It is because he was a Foulah and not a Siangan elder. (2mks)

(d) Yes. (2mks). The boy had been daring enough to go too close to the counter thus infuriating Amadu Bah.(1mk) Bah on his part also acted too mercilessly on the boy thus injuring him. (1mk)
total 4mks)

2. 
(a) – Tonal variation

- use of gestures

- Facial expression

- Pausing (any 3 x 1mk each = 3mks)

(b) 
bull- full/pull/rule etc

Wall – tall /call/ fall etc

Earth – health/ birth/ mirth etc

Trees – ease/ freeze/ fees e.t.c (each 1mk – total 4mks)

(c) throws – throes

Two – to (1mk each = 2mks)

(d) Please wind the car window down to let fresh air in. (any other appropriate sentence) 1mk)

3. 
(a) (i) These, this. (ii) scene, sin 
(iii) cat, ruts
(iv) lives, hut
(v) din, tin (each 1mk = 10mks)

(b) more 
(i) any other
(iii) harder
(iv) delicious
(v) whoever
(each 1mk= 5mks)

(c) (i) in
(ii) from, through, with
(iii) from (each 1mk)
(d) (i) compositions
(ii) allegations
(iii) personality
(iv) pleasurable
(v) erroneous

(each 1mk = 5mks)
N/B: wrong spelling 0

(e) (i) don’t we?

(ii) ain’t I?
(iii) will you?
(iv) musn’t they?
(v) shall we?
          1mk each 
N/B; No question mark 0 
no comma ½ mk

(f) (i) check
(ii) It’s

(iii) groaned
(iv) Knew
(v) see
(vi) right
(vii) wait

    (viii) great
(ix) to
(x) to
(each 1mk= 10mks)

(g) 
(i) I wonder whether / if I will get time to do it.

(ii) Never will I do it again.

(iii) “I am going to Tanzania next week.”  Neno said. “My sister is getting married.”
(iv) Keben will marry Chesang if her parents agree.

(v) There is stale food in the kitchen.
(each 1mk = 5mks)

(h) (i) are grazing
(ii) are reading
(iii) am going
(iv) is hopping
(v) are digging
(each 1mk = 5mks)

I) (i) The ball was kicked by Chebet

(ii) The dinner was cooked by Chelangat last night.

(iii) Our school bus was surrounded by Zebras

(iv) The safari rally was won by Patrick Njiru.

(v) The meat was eaten by the dog.

(each 1mk =5mks)

(j) (i) few
(ii) little
(iii) a few
(iv) little 
(v) little
(each 1mk = 5mks)

4. – Must be an apology letter. If not deduct 2mks)

- Address – 4mks)

-Salutation -1mk

- ref -1mk

-Body -12mks

-Signing off -2mks




(total 20mks)
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